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Exam Exam

: AADHI_46 : 26-06-2019
Code Date
Exam
Version : 35 . :15:30 - 17:00
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Question No. 1

'‘A' TF FE § TN YE T §1 1 Bl IO F 91, a7 9 AR qar § W 1/2 Bl o=
% d1G, 9% T @ a1 3 [T 81 3, ¢ Y9 O 7 S W@ &1 394 a9 A Hw fowr &
Tolell Y& fRaT ar?

A) GfgaH B) 3cR
C) afgor D) ud

N

'A' started from a place. After walking for 1 km, he turns to the left, then walking for 1/2 km, he
again turns left. Now, he is going in the eastward direction. Towards which direction did he
originally start?

A) West B) North
C) South D) East
Answer Key : A Your Response : A (Correct)

Question No. 2

fafaf@a & & e o ol & gfaret &t Ser ST Jhar 872
A) HfA® IR IR 3R B) Aol 3R IR 3R
C) Aul 3R FHATR D) der 3R g A

In which of the following two ways can resistances be combined?

A) Line and across B) Serial and across
C) Series and parallel D) Straight and between
Answer Key : C Your Response : C (Correct)

Question No. 3

s d @ Fla @ Bt 3ed w7 7 87




A) 5/8, 7112, 3/4, 13/16 B) 7/12, 13/16, 3/4, 5/8

C) 5/8, 7/12, 13/16, 3/4 D) 13/16, 3/4, 5/8, 7/12

Which of the following fractions are in descending order?

A) 5/8,7/12, 3/4, 13/16 B) 7/12,13/16, 3/4, 5/8
C) 5/8,7/12, 13/16, 3/4 D) 13/16, 3/4, 5/8, 7/12
Answer Key : D Your Response : D (Correct)

Question No. 4

HEHHATT U 3R ¥ FROT I[GahIT 8 el ol
A) TTell He3T &1 3greafd B). 31gTHA Felecial &l 3UTEdld
C) mardayiadar 3R degar D) 3Td dcolieh 3R FaUeATh

Transition metals are often paramagnetic owing to-

A) Presence of vacant orbitals B) Presence of unpaired electrons
C) Malleability and ductility D) High melting point and boiling point
Answer Key : B Your Response : B (Correct)

Question No. 5

v fafea gesmr F afe 'CAB' @ 'WUV' forar Sirer §, 3 Fewmwr #F 'DEAF @ 4 foar
SIRAT?

A) XWUY B) UYXZ

C) UWYV D) XYUZ

If 'CAB' is coded as 'WUV', how is 'DEAF' coded in that language?

A) XWUY B) UYXZ
C) UWyv D) XYUZ
Answer Key : D Your Response : D (Correct)

Question No. 6




Jgd UsgHse O Aefaf@a 7 @ e g & 3mafaa e srw 27
A) FhersT B) A

C) aceRels D) fHemR

=~ 9

In which of the following countries was the first Common Wealth Games held?

A) Canada B) China
C) Switzerland D) Singapore
Answer Key : A Your Response : B

Question No. 7

3 AGa T 994 &, A Heareiea A0 & @ & gEw a7
Tafea® &o1 & fowia & &l

e, wrqepe, =

A) B)

O] D)

Choose the figure that best represents the relationship among the
classes given below.
Triangle, Quadrilateral, Square

A) B)



O] D)

Answer Key : B Your Response : B (Correct)

Question No. 8

SiepT(Zika) 9 & Ugel &%, ZikaVac T 37=Tavor SaRT foRdr T |
A) crsdr @iedT, ST B) sdiehis], IR
C) TEH WIAT, ST D) #Rd s¥eeh, R

ZikaVac is the first vaccine for Zika virus unveiled by-

A) Daiichi Sankyo, Japan B) Biocon, India
C) Astellas Pharma, Japan D) Bharat Biotech, India
Answer Key : D Your Response : B (Wrong)

Question No. 9

39 e #, i HYal F 91g ol sy QU v 1 3 fAsht H gef, S A §9 @ weifts
39ged gl

1) Tsfr It arh &

2) $ 9 I F



3) W3l 2R &g §l

fawy:
. $& T6 T E
. ¥ 3FF 57 &

lll. FE IAT gl G B
A) shael sy | 3R 1l 3ugFT g B) ®efl foivhy 3ugerd ¢
C) Fae fasay Il 3uged B D) shael sy | 311l 3uged gl

In this question, three statements are given followed by three conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) All gases are waters.

2) Some stones are gases.
3) All stones are liquids.

Conclusions:

I. Some waters are stones.
Il. Some gases are liquids.
lll. No stone is water.

A) Only conclusions | and Il follow B) All conclusions follow
C) Only conclusion Il follows D) Only conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 10

aFarg # AlNG SifawRE T HiT 6T 87




A) fEerée B) HSASS
C) g=gfele D) i

What is the harmful chemical present in tobacco?

A) Nicotine B) Cyanide
C) Insulin D) Caffeine
Answer Key : A Your Response : A (Correct)

Question No. 11

frer gere #r IM@F gdca T 8?7
A) 9erd FI Gelcd X Ulell &l Geled B) Ycre @ Helcd/dlell &l Helcd
C) Y9Iy T Uedcd + YTl & Uelcd D) Uil &7 Gedca/Iary #T Helcd

What is relative density of a substance?

A) Density of substance x density of water B) Density of substance / density of water
C) Density of substance + density of water D) Density of water / density of substance
Answer Key : B Your Response : B (Correct)

Question No. 12

it 2L (12 1)]
AU QIS L B B

A) B)

3/14 5/12

0 D)



A) B)
3/14 5/12
0 D)
7/12 0
Answer Key : D Your Response : D (Correct)

Question No. 13

iy B s & v G # q-faes 32 §, O sear A a s
A) 198 B) 192

C) 196 D) 202

If two-thirds of one quarter of a number is 32, then find the number.

A) 198 B) 192
C) 196 D) 202
Answer Key : B Your Response : B (Correct)

Question No. 14



3T 39T & A FieT AT G 30T G 872
A) FIT FHr AT B) #fEas®
C) wifessw D) 3o &g (Jf& aid)

Which of these organs is NOT vestigial?

A) Ear Muscles B) Brain
C) Appendix D) Wisdom Teeth
Answer Key : B Your Response : B (Correct)

Question No. 15

360 #Hrex oy T ISy 45 FheleNe/eEer 1 url ¥ T ¥ ¢l 140 HeT od g F I§ fhdar
AT # U HM?

A) 45 T&s B) 40 @3
C) 48 A%s D) 42 T3

A train 360 m long is running at a speed of 45 km/h. In what time will it pass a bridge of 140 m
long?

A) 45 seconds B) 40 seconds
C) 48 seconds D) 42 seconds
Answer Key : B Your Response : B (Correct)

Question No. 16

ar aR,Uh @ HAT FAM: AW P A QIR W Q A P Hr iR T WA §1 P IR Q &
T R fig W e % a1g, 3 FAvn: 54 3R 24 Aee F 39-309 ey T d% TG S
§1 Q ¥ P a%F o aret aRed o 39l AT e | 7 qff A

A) 36 f&eTe B) 72 fAec

C) 60 fAeTc D) 48 fsle

Two friends start at the same time from cities P and Q towards cities Q and P respectively. After
meeting at some point between P and Q, they reach their destinations in 54 and 24 minutes
respectively. In what time did the one who moved from Q to P complete his journey?



A) 36 minutes B) 72 minutes

C) 60 minutes D) 48 minutes

Answer Key : C Your Response : C (Correct)

Question No. 17
deerg PAfaf@a F @ fFe a8 & R Rua §2
A) aer B) &

C) d«dl D) 3ram

On which of the following riverbanks is Hyderabad located?

A) Narmada B) Musi
C) Chambal D) Ganga
Answer Key : B Your Response : B (Correct)

Question No. 18

fArfaf@a 7 @ e 8% & 2019 & NRI & AU 'NRI-SET-3fidcrsT T Gielel Hir TiHar &
& 8?

A) SBI d= B) HDFC d%
C) ufFad &= D) IDBI %

Which of the following banks has launched the ‘NRI-Insta-Online’ account-opening process for
NRIs in 2019?

A) SBI Bank B) HDFC Bank
C) Axis Bank D) IDBI Bank
Answer Key : D Your Response : B (Wrong)

Question No. 19

ELISA f=ifaf@a 7§ & «=r 87
A) TRRA ST AIDS HT HROT dAdT & B) & g & gger AIDS & dr dell AT

C) AIDS &I 9aT ol & fow wah Sfa D) @e¥ Ugell SAfed foraer AIDS & 7Y g8



ELISA refers to which of the following?

A) The virus which causes AIDS B) The centre in which AIDS was detected
first
C) A testto detect AIDS D) The very first person who died of AIDS
Answer Key : C Your Response : C (Correct)

Question No. 20

et aBT P, Q 3R R, 3reEr-3renT T & # 10, 15 AR 20 €@ ¥ X W &1 P # geg 7
¥ol, Q T GaE 8 T AN R FT Fag 9 aof Wel 17| & FF §AT o U W I, A R
TH IR H Fad 3 6 Y A dF FIH F Thdl ¢ 3 3qH a¢ 38 1 ¢ & v &g Far
9sar 87

A) 12:00 For G B) 112:30 Jor &R

C) 12:12 or & D) 1:00 so IR

Three pipes P, Q and R can fill a tank in 10, 15 and 20 hours separately. P was opened at 7
AM, Q at 8 AM and R at 9 AM. At what time was the tank completely filled if R can work for only
3 hours at a stretch and needs a 1 hour break?

A) 12:00 PM B) 12:30 PM
C) 12212 PM D) 1:00 PM
Answer Key : B Your Response : B (Correct)

Question No. 21

X+3._ X+ 3a = ' =

= ° X' T HIH AT Sl 7|
x+b x+a+b @ .

b

A) B)



0 D)

a+2b a - 2b

X+a xX+3a

If = . find the value of 'x'.
x+b x+a+b
A) B)
a-b a+b
0 D)
a+ Eb q - Eb
Answer Key : D Your Response : D (Correct)

Question No. 22

fArfaf@a & & frw f@fhar & & rerer 3eRT WANRT I WARBT & Fog (=)
R gar 82

A) 3iTerETEROT B) &fd fawamds

C) R D) Uehel fa¥amast

In which of the following reactions are two different atoms or groups of atoms (ions)
exchanged?

A) Oxidation B) Double displacement
C) Reduction D) Single displacement

Answer Key : B Your Response : B (Correct)



Question No. 23

TS TF Uh Sod & PR A § IR 30 FN T 95 T fRar 4 §; JeR smer i
B 3k Fag waAw: 10 #@ 3R 25 #Aex &1 dFER s F AT Bswr 10 #Aew ik e
Faig 15 AT &1 a7, g e & @Av 20% FfaRed Faaw a@a §o, 3@ o F @0 $
AT 3aTF Ferar T T AT i I0ET ST

A) 3783.26 #Hrex2 B) 4714.43 #Hex2

C) 3772.14 #Hex? D) 2451.40 #Hex2

A tent is in the form a cylinder and is surmounted by a cone; radius and height of the cylindrical
portion are 10 m and 25 m respectively. For the conical part, radius is 10 m and slant height is
15 m. Calculate the amount of canvas required to build the tent allowing 20% extra for folding,
stitching etc.

A) 3783.26 m? B) 4714.43 m?
C) 3772.14 m? D) 2451.40 m?
Answer Key : D Your Response : D (Correct)

Question No. 24

AT e & cae ¥ 96 3R A Bu 1w 92T #r 3ca) &

35 aRe- Tgel, Aew, v, e, wwe, gdor, w9 3R 3T T A, St o & s A
#r 91 3R A e AT IR FA H @ 7 FRAAT W IS §1 T 7 3w 2w A AW H{g o
g &1 O o dAev i FAf W 98 71 B 3R g & A SF o @ §1 A 3R 3eow
FHR T & S §91el H o §| W A o Tger IR A & B & S w9t F v g1 @
el off fawer s arelr FAl oX g Sor &1 o ALY 3N 7 & 30N IR AT hr FH W IS
g1 weior AR #ger & A Hae T @ AR g1 WG et & e AR (81 g1 3R ) dor g,
3R fearer i oft welior & Serer F A6 Yo §

A=ef@a & § Sl @ S = oRf W &6 &7
A) 31%0T 3R T B) #gYm 3R ud=

C) 3rur 3R fearer D) warg 3R [ger



Read the following information carefully and answer the question given below.

Eight friends—Rahul, Mahesh, Priya, Dinesh, Prasad, Praveen, Ramu and Aruna sit in a row
having chairs numbered one to eight in ascending order from left to right. They all are facing
north direction.

Priya sits on the chair numbered six. There are exactly two persons between Priya and Rahul.
Mahesh and Aruna always sit adjacent to each other. Ramu sits adjacent to neither Rahul nor
Priya. Prasad never sits on a chair having an odd number on it. Neither Mahesh nor Aruna sits
on chair numbered four. There is only one person between Praveen and Mahesh. Prasad sits
on the right (not an immediate right) of Dinesh, and Dinesh never sits adjacent to Praveen.

Which of the following pairs sits at the two extreme ends?

A) Aruna and Ramu B) Mahesh and Praveen
C) Aruna and Dinesh D) Prasad and Rahul
Answer Key : A Your Response : A (Correct)

Question No. 25

29 wsH H TH UfFd H I 9% BR W FAEd T W AR IgA IW 9T A % SR A
T9ed ¥ W ¥ dffd & 357% I Fas a6 82
A) 4 B) 5

C) 3 D) 6

Arjun is seventeenth from the left end of a row of 29 boys and Rahul is seventeenth from the
right end in the same row. How many boys are there between them in the row?

A) 4 B) 5
C) 3 D) 6
Answer Key : C Your Response : C (Correct)

Question No. 26
fFelY e &7 pH 3qHhr T Wegar W AR Fear B
A) gEsifaTs 3T B) 3iT&dIss 3T

C) gIsglss 3 D) gBsifadd 3T




The pH of a solution depends on its concentration.

A) Hydronium ions B) Oxide ions
C) Hydride ions D) Hydroxyl ions
Answer Key : A Your Response : A (Correct)

Question No. 27

ar gt @ 3 F Arer 3R R F AT 5: 1 §1 AR 3TR A F AR 96 §, o Ierehr
3y A A

A) 6, 10 B) 24, 4

C) 6, 16 D) 8, 12

The sum and difference of the ages of two brothers are in the ratio 5 : 1. If the product of their
ages is 96, then what are their ages?

A) 6,10 B) 24,4
C) 6,16 D) 8,12
Answer Key : D Your.Response : D (Correct)

Question No. 28

frfaf@d soft & & eufa 3R w7 fifsw

PTVX, AEGI, (..), WACE, HLNP
A) KNQT B) LPRT

C) KPQS D) HKLO

Find the missing group of alphabets in the following series.

PTVX, AEGI, (...), WACE, HLNP
A) KNQT B) LPRT
C) KPQS D) HKLO

Answer Key : B Your Response : B (Correct)



Question No. 29

Foif fr sggwr & AFS # Faifas gafeyd aidr &
A) g B) ga
C) = D) careAT

The arrangement of particles is most ordered in the case of-

A) Solids B) Liquids
C) Gas D) Plasma
Answer Key : A Your Response : A (Correct)

Question No. 30

TRV 9o gfaser' W W9t &1 aRfas A ar?

A) CID B) RAW

C) CRPF D) CBI

Which organization's original name was 'Special Police Establishment'?

A) CID B) RAW
C) CRPF D) CBI
Answer Key : D Your Response : A (Wrong)

Question No. 31

Ifg '+ & Aded - §, - F Aded '+ §, X' & Adew "+ IR+ F AdAT X §, O R aw
gt F & T T 7@ &2

A) 30 +5+4-10 x5 =22 B) 30-5+4 + 10 x 5 = 62

C) 30 +5-4+10x5 =58 D) 30 x5-4+ 10+ 5 =41

If '+' means -, '-' means '+, 'X' means '+ and '+' means X' , then which of the given equations is
correct?

A) 30+5+4-10x5=22 B) 30-5+4+10x5 =62



C) 30+5-4+10x5=258 D) 30x5-4+10+5=41

Answer Key : D Your Response : D (Correct)

Question No. 32

FIeeT ¥ ¥ # qIgHSA H Al B

A) FIET AABTFAES B) e 3B3ITFASS

C) FIuel D) 3@ H FeT AARFAESS 3R Fe
STSAHTFATSS

Carbon exists in the atmosphere in the form of-

A) Carbon monoxide B) Carbon dioxide

C) Coal D) Carbon monoxide in traces and carbon
dioxide

Answer Key : D Your Response : D (Correct)

Question No. 33

I Q9 & SoH F FAG ar T A gT Hr acidl 3 $ e A1 g g Fr 3y 20 a9 g,
ar Rar #r aeAe Iy AT A

A) 40 T¥ B) 39 a¥
C) 30 a¥ D) 60 ay

Father's age at the time of the birth of his son was the son's present age. If the son's age is 20
years, then find the father's present age.

A) 40 years B) 39 years
C) 30 years D) 60 years
Answer Key : A Your Response : A (Correct)

Question No. 34

'S8T fBamsss’ qFas & o@F Fid §?
A) SAEIATT JEw B) sfexr amedr

v

C) el delld TSI D) 3. Tsig 9dIg




Who is the author of the book 'India Divided'?

A) Jawaharlal Nehru B) Indira Gandhi
C) Abul Kalam Azad D) Dr. Rajendra Prasad
Answer Key : D Your Response : C (Wrong)

Question No. 35

%1000 & ¥ AT dlell Th & ' 5% gifd W a=r Sf1ar § 3 wred o & @iy 715
g TG B GoT: 5% T G AT ST §1 SHA Fhcker gifer AT G g3?

A) 2.5% =T ol B) %.2.5 I gIfer

C) 2% & gy D) %.2 T st

An article costing Rs.1000 is sold at 5% loss and another article purchased with the money got
was again sold at 5% gain. Was there a loss or gain and how much?

A) 2.5% gain B) Rs.2.5loss
C) 2% loss D) Rs.2 gain
Answer Key : B Your Response : B (Correct)

Question No. 36

R e Reost 3 ¥ e Y g
A) DEB B) NOL
C) HIF D) RTP

Find the ODD one out from the given options.

A) DEB B) NOL
C) HIF D) RTP
Answer Key : D Your Response : D (Correct)

Question No. 37

fmfaf@a & @ #la & T afAfy F9e & vQF weT 7 g 82




A) TRwfeR afafa B) aifuer afafa
C) s & Tl D) SUYR WAELEHT afafa

Which of the following is/are the Standing Committees in each House of the Parliament?

A) Committee of Privileges B) Committee on Petitions
C) All of the options D) Business Advisory Committee
Answer Key : C Your Response : C (Correct)

Question No. 38
IR 3 T 98 T ¥ T FE&A A AfSw, S 27, 18, 16 R 12 F QoA RSy B

A) 9720 B) 9700

C) 9710 D) 9730

Find the largest number of four digits that is exactly divisible by 27, 18, 15 and 12.

A) 9720 B) 9700
C) 9710 D) 9730
Answer Key : A Your Response : A (Correct)

Question No. 39

W ¢ 7.2 - [3 + 0.5 of (3.1 - 2.3 x 1.02)]
A) 4.223 B) 4.233

C) 3.432 D) 3.823

Simplify: 7.2 - [3 + 0.5 of (3.1 - 2.3 x 1.02)]

A) 4.223 B) 4.233
C) 3.432 D) 3.823
Answer Key : D Your Response : D (Correct)

Question No. 40



30 eeT &1 999 F, I HPa H T TEd (?) & WA W @

S & T Fafead 39gF &
3 1
3 10
5} 3

A)

o)

Choose the alternative that b

given figure.

A)

0

3
[ .
5

B)

D)

11




Answer Key : C Your Response : C (Correct)

Question No. 41

UF A & Aq W, 39, FAR, e, 3501 R R Ta AR 3aR #7 AR HF WE @S
gl

(i) FAR, 30T F aF 3N 40 A FT g W &
(ii) &, FAR & gftror & 60 e Fr g « B
(i) fAferer 30T & aiREw & 25 A Hr gy W B

(iv) oo e & 3w} 3 90 #HieT & gff W 7l

FAR & 918 AN S AT ¢ 38F 3k g 7 FheT 87
A) 37807 B) fadirer

C) feaer D) &g

On a playing ground, Dev, Kumar, Nithish, Arun and Dinesh are standing as described below
facing the North.

(i) Kumar is 40 meters to the right of Arun

(i) Dev is 60 meters to the South of Kumar.

(iii) Nithish is 25 meters to the West of Arun.

(iv) Dinesh is 90 meters to the North of Dev.

Who is to the north east of the person who is to the left of Kumar?

A) Arun B) Nithish
C) Dinesh D) Dev
Answer Key : C Your Response : C (Correct)

Question No. 42

IHAST HEA3T a, b, ¢ & WHE & A.H.9(LCM) AT RS

A) abc B) a%b?c?



C) 1/3 abc D) a+b+c

Find the LCM of set of prime numbers a, b and c.

A) abc B) a%b?c?
C) (1/3) abc D) a+b+c
Answer Key : A Your Response : A (Correct)

Question No. 43
R e M-Iy F Fww P 2

A) 9HIG B) HIgsl UhA
C) foRrem D) dd

Who is the author of the Hindi play 'Adhe-Adhure?'

A) Prem Chand B) Mohan Rakesh
C) Nirala D) Pant
Answer Key : B Your Response : B (Correct)

Question No. 44

N AR WA quiil & & gger 1 i I, AW F A I F 3 40F T A goie AT
EAIT

A) 15 B) 9

C) 13 D) 11

Three times the first of three consecutive odd integers is 3 more than two times the third. Find
the third integer.

A) 15 B) 9
C) 13 D) 11
Answer Key : A Your Response : A (Correct)

Question No. 45




gfe Rt dafae s & & Usg AT &, aY 39 S Y FAT Fgl AT &7
A) efafes B) TR
C) Ta=e D) g

If the two words of a scientific name are similar, the name is said to be-

A) Tautonym B) Antonym
C) Synonym D) Homonym
Answer Key : A Your Response : A (Correct)

Question No. 46

AT wat F ¥ e RRE i A RE O 32

A) 3HAFG B) &«

C) el D) 3R

Which of the following fruits has high potassium content?

A) Guava B) Apple
C) Banana D) ‘Pomegranate
Answer Key : C Your Response : C (Correct)

Question No. 47

3o 3R e et S 1 Faer 70 3R 60 fosit A T Whd §1 I T AT FH T LE
N §; IR T FAA €, HSF FA BIF & ¥ OST A AY FH F 47 RS F @ Bam

ST o FIA S DS Y17
A) 14 feo a1 B) 10 &1 &g

C) 7 & §1g D) 8 f&eT &g

Ajay and Vijay can do a piece of work in 70 and 60 days respectively. They start the work

together; and after sometime, Ajay leaves. Vijay finished the remaining work in 47 days. When

did Ajay quit the work?

A) After 14 days B) After 10 days



C) After 7 days D) After 8 days

Answer Key : C Your Response : C (Correct)

Question No. 48
fArfaf@a 7 & Fa B a1g & 9RT 39 R geh & §9 A gir g7
A) dresx B) Eead T
C) & HTITH D) 3ffeede!

Which of the following alloys contains mercury as one of its constituents?

A) Solder B) Stainless steel
C) Zinc amalgam D) Alnico
Answer Key : C Your Response : C (Correct)

Question No. 49

59 W A, Q) FYAl & g A fAshy Ru aw §) 39 Fshul & ger, S arfees §7 § weifts
39gd &l

CRiC
1) F§ W 95 AL &

2) W 93 W3S ¢

IGLCE
. I 95 5F T
Il. 3% W% 93 §l

lll. FF ¥SF AGA A &



A) Fael sy Il 3uged Bl B) el fasshy Il 3uged g
C) whael fasey | 3ugea g D) @&l foshy 3ugerd g

In this question, two statements are given followed by three conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) No soap is tree.
2) All trees are roads.

Conclusions:

I. Some trees are roads.
Il. All roads are trees.
lll. No road is soap.

A) Only conclusion Ill follows B) Only conclusion Il-follows
C) Only conclusion | follows D) All conclusions follow
Answer Key : C Your Response : C (Correct)

Question No. 50
JieceRr , IR T P AT FaT ST o?
A) 9= B) ey
C) R D) Y

How is the river Ganga called in Bangladesh?

A) Padma B) Mishmi
C) Kosi D) Ravi
Answer Key : A Your Response : A (Correct)

Question No. 51




FAafRT e s e s gt Ruarrrsrsac

fRrerfertar 9T =2 wF g % 0F Arg # A w9 e
FHAT AT TG HI [HE9T Fav 2|

forer
Ife v HGl Y TG %.8000 8, Y HEll T Hel @A &7 o7

A) +.40000 B) +.42000

0 D)

$.36000 +.48000

Study the following pie chart and answer the guestion given
below it.

The following pie chart represents the expenditure on various items
and savings in a month for a family.

Housing
Food

Savings
= .
iscellaneous

Education

I[f savings in a month amount to Rs.8000, what is the total
expenditure for the month?

A) B)

Rs.40000 Rs.42000

2 Rs.36000 D) Rs.48000



Answer Key : A Your Response : D (Wrong)

Question No. 52

Far & 9 faFar GaRT BT &
A) R B) feer
C) oheld (Stem cutting) D) @3

Banana is propagated by-

A) Suckers B) Tillers
C) Stem cutting D) Crown
Answer Key : A Your Response : D (Wr

Question No. 53

&l 9IBT e Thr Fr 12 A 3R 15 Beie 7 X Hehd §1 T IE 91sT 39 6 fReie F @l
T HFdT §1 9ger & 934l & 6 Aee & T el oar ¢ AR 38F a6 T 9By o @
fear ST &1 Sy fhaer waT # @relr & seshi?

A) 57 fAsc B) 48 f#A=ic

C) 42 fiee D) 54 fAee

Two pipes can fill a cistern in 12 minutes and 15 minutes. A third pipe can empty it in 6 minutes.
The first two are open for 6 minutes and after that the third pipe is also opened. In what time will
the cistern be emptied?

A) 57 minutes B) 48 minutes
C) 42 minutes D) 54 minutes
Answer Key : D Your Response : D (Correct)

Question No. 54

A ITHUT o Safdesd IR, Sy, e & Afder vfoeie & o= F v s B
g 1 39T Rt AT ST 82

A) A7 ¥ Y B) STShIA AT & 18T STeldT g
C) ATSHH AT & HFNFOT F FAE ToRar D) ATsHA F 3od FfeRrgwdr g ¢l




gl

Why is nichrome alloy used for making heating elements of electrical appliances such as

electric iron, toaster, etc.?

A) All the options

B) Nichrome does not burn easily

C) Nichrome does not undergo oxidation D) Nichrome has high resistivity

easily

Answer Key : A

Y FTT I T ¥ 9gd
A) g

C) "HAT tafad

Earthquake produces
animals.

A) Echo
C) Normal sound

Answer Key : D

Your Response : A (Correct)

Question No. 55

AT 3cqesT Fl § ST IO A F FAT FAT §

waves before the main shock waves which alert some

B) Ultrasound

D) Infrasound

Your Response : B (Wrong)

Question No. 56

Ty 7 Tof I qAE 8 TS F AT AST A1 qSAT e Tk AT

Q, &

A)

7 T 40 e

o)

B)

D)



9
T g p— qag 7 9977 38— ez 0w
:45 W : 2T 11

The two hands of a clock will be together between 7 AM and 8 AM at:

A) B)
40 minutes past 7 AM 38 ll?l minutes past 7 AM
0 D)
9 4
7:45 AM 38 71 minutes past 7 AM
Answer Key : B Your Response : B (Correct)

Question No. 57

IfE '+ T AGEd X' §, X FH A + G, X H OAdeT '+ W+ H AGew g, L 9 + 5+
4-4x2=7

A) -9 B) 2

C) -3 D) 3

If '+' means 'X', '-' means '+, 'xX' means '+ and '+' means '-', then, 9 +5+4-4x2="7°
A) -9 B) 2
C) -3 D) 3

Answer Key : A Your Response : A (Correct)



Question No. 58
T faer e &1 pH AT fhaer giar 872
A) 7 B) 7 & &

C) 3 D) 7 & 3=

What is the pH of basic solution?

A) 7 B) Lessthan7
C) 3 D) Greater than 7
Answer Key : D Your Response : D (Correct)

Question No. 59
Sefaegd 47 &, FlaT W o Regd i & aRafda aich &2

A) Th &9 SR # I e Hr o fFua B) UmEr @ qEHEs Far
Far

C) U= &1 3vlT Falr D) 96T & 9arg & eafa Far

In a hydro-power plant, which energy is converted into electrical energy?

A) The potential energy of water stored in a- B) The chemical energy of water

tall reservoir
C) The heat energy of water D) The sound energy of water flow
Answer Key : A Your Response : A (Correct)

Question No. 60
Ife frely F&ar & T F 3fAF 3w 4 ¥l O 38F °eT F 3ifaw 3w Frder gem?

A) 8 B) 4

C) 6 D) 2 478

The square of a number ends in 4. Then its cube ends in-
A) 8 B) 4

C) 6 D) 2or8



Answer Key : D Your Response : D (Correct)

Question No. 61

IfE 12 qEal 1 T e 10 oIt & A {7 F S §1 o, a7 # gfoea A fifsel

A) 10% B) 18%

C) 25% D) 20%

If cost price of 12 books is equal to the selling price of 10 books, then what is the profit percent?

A) 10% B) 18%
C) 25% D) 20%
Answer Key : D Your Response : D (Correct)

Question No. 62
feafaf@a # ¥ i a1 39 Shaewe 7 Faer e SK § FoF AN Fer &ar 82
A) 33 B) dhell

C) 3HA®S D) 3R

Which of the following bears flowers and fruits only once in its lifetime?

A) Peach B) Banana
C) Guava D) Fig
Answer Key : B Your Response : A (Wrong)

Question No. 63

ST SR @7 gedE 21 A, Peearad o & Rl defta ¥

A) TRIeT @ 3SR B) 3feudiegel & feal r gt
C) Silael 3R cATFAITd TaATAT T TIETOT D) i AT T TG P T T

With which of the following is Article 21 A of Indian Constitution associated?
A) Right to education B) Protection of interests of minorities

C) Protection of life and personal liberty D) Freedom to manage religious affairs



Answer Key : A Your Response : A (Correct)

Question No. 64

afeer U &1 v 30T B
A) oeTS B) &
C) =mer D) g

An example for a vector quantity is-

A) Length B) Momentum
C) Speed D) Distance
Answer Key : B Your Response : B (Correct)

Question No. 65

el IS H&AT & IUEEYST H HEAr FA FIfST
A) 2 B) 1
C) 3 D) 0

Find the number of factors of any prime number.

A) 2 B) 1
C) 3 D) O
Answer Key : A Your Response : A (Correct)

Question No. 66

Afaf@d SERT F e § 96 3R i Re v ma &1 3R &I

&g IfAar- U, V, W, X, Y, Z & dfad 7 3k a7 af@a- N, O, P, Q, R, S gl dfFa &
59 TR @ § & yd% AP o e i 3R A = @ §, IO a8 R s owew A
@ | N, 38 3 & 8 o 3R &, S Thea g% 3N @S 3BaAar Y $r 3N FHF A ge g
XIIRYFIAaHFraa VeI Z UF &e 0 3R g 3R W F 8 g 30X 81 P, U #r 3R
A A GEE AN O F d% a5 3N ¢ S, Q F I 3N I T | 7l



fifaf@a & § Fl9 S 3R R & &7 dor 82
A) N B) P

C) O D) Q

Read the following information carefully and answer the question given below.

Six actors—U, V, W, X, Y and Z are standing in one row and six actress—N, O, P, Q, R, S are
standing in another row in such a way that each actress faces one actor, not necessarily in the
same order. N is to the immediate right of the actress who is facing Y the actor at the extreme
right. Only V is between X and Y. Z is to the immediate left of U and to the immediate right of W.
P is facing U and is to the immediate left of O. S is third to the left of Q.

Who among the following is standing between S and R?

A) N B) P
C) O D) Q
Answer Key : A Your Response : A (Correct)

Question No. 67

FleT AT oreg S T 7T HaY Fr Fafead o @ qob HE?

WeRTST : 378IT :; HIVOT ; ?
A) sTST B) 3farsy

C) D) 3w

Which word will best complete the relationship given below?

Light : Blind :: Speech : ?
A) Language B) Voice

C) Tongue D) Dumb



Answer Key : D Your Response : D (Correct)

Question No. 68

SH M H, T HYT & qi¢ IR fAshy Ry v §1 397 Fsast &1 a3 #Y, st aifes &7 &
HaifeF 3ugad ¢l

CGH

A & et & T sa1r o’

|. A & oller ey A, T HHT UL FIHA slgl Y Tohed U
Il. VA7 & AT F 99T IRg a¥ o

. dFafeat & o A7 SR T F1 @A FA F e aRepd 3usor 3R FEeFR Algg
TRl 4Tl

IV. AF 3 AT &1 AATT o w8 ant F1 9, F2 Agelad 3R 5 Theq A B
A) Sael sy IV 3uged gl B) hdel faishy Il 3ugeFd g
C) e fasshy Il 3ugFT & D) &aer sy | 3uged Bl

In this question, a statement is given followed by four conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
Rome was not built in a day.

Conclusions:
I. The Romans were lazy, they could not work in time.



Il. It took about twelve years to build Rome.

lll. The Romans did not have sophisticated equipment and infrastructure to build a city like
Rome.

IV. It took years of patience, hard work and determination to construct a city like Rome.

A) Only conclusion IV follows B) Only conclusion Il follows
C) Only conclusion Il follows D) Only conclusion | follows
Answer Key : A Your Response : A (Correct)

Question No. 69

fafaf@a F & R 2019 7 AT F AT "Ra 1 Togg g fwar = ar?

A) Fdds T&AT B) & geARIATH

C) W9 FAR D) #sw gHR

Who among the following was appointed the Ambassador of India to Maldives in 20197?

A) Navtej Sarna B) Ruchi Ghanashyam
C) Sandeep Kumar D) Sunjay Sudhir
Answer Key : D Your Response : D (Correct)

Question No. 70

TG & 1 S| A 4T 272
A) &&= B) #IeX
C) TraltarmsT D) @&s

What is the Sl unit of wavelength?

A) Hertz B) Metre
C) Kilogram D) Second
Answer Key : B Your Response : B (Correct)

Question No. 71

TR 339 Refa@a F ¥ fre I & wdfta §2




A) o B) HechaToll

S

C) Mew D) <o faa

With which of the following sports is Tiger Woods associated?

A) Tennis B) Boxing
C) Golf D) Table tennis
Answer Key : C Your Response : C (Correct)

Question No. 72

UF e oI A Igfed 25 g & 3R S aler & 4 #eT §1 200 Hew A g F ag
F & A eaf aET anT frder @R waen?

A) 5 ¥&s B) 4 ¥s
C) 1 Ths D) 2 @%s

The frequency of a sound wave is 25 Hz and its wavelength is 4 m. What is the time taken by
the sound wave to travel a distance of 200 m?

A) 5s B) 4s
C) 1s D) 2s
Answer Key : D Your Response : D (Correct)

Question No. 73

TF UIsY, qEY @ ol I O g1 Qe s U Ay At R S A 26 fee 7 W wa
&1 ¢ 9ISy T kel SRl F IR F FRcem FHT FREm?

A) 54 fAsC B) 124 fA«c
C) 78 fAec D) 104 fAee

One pipe works three times as fast as another. The two pipes together can fill a tank in 26
minutes. By working alone, how long will the slower pipe take to fill the tank?

A) 54 minutes B) 124 minutes

C) 78 minutes D) 104 minutes



Answer Key : D Your Response : D (Correct)

Question No. 74

W & 43 § W g Fr g3 # i gar _____ gdrr gl
A) Avcus B) fihet
C) faar D) U&

The prolongation of the backbone beyond the trunk of the body is called the-

A) Spine B) Fin
C) Wing D) Tail
Answer Key : D Your Response : D (Correct)

Question No. 75

'ddd [OFT Use &d Jdca H W_=T A1?

A) 1980 B) 1978

C) 1987 D) 1992

When did the term ‘Sustainable Development’ come into existence?

A) 1980 B) 1978
C) 1987 D) 1992
Answer Key : C Your Response : D (Wrong)

Question No. 76

Aol A g HL

1, 6, 15, 28, 45, (...)



Complete the series.

1,6, 15, 28, 45, (...)

A) 56 B) 57
C) 63 D) 66
Answer Key : D Your Response : D (Correct)

Question No. 77

PR Al 3 sRfeYd Fear T R

81, 63, 49, 35, (...), 15
A) 25 B) 18

C) 24 D) 39

Find the missing number in the following series.

81, 63, 49, 35, (...), 15

A) 25 B) 18
C) 24 D) 39
Answer Key : A Your Response : A (Correct)

Question No. 78

6.25% dIf¥er saTeT T &7 & $.5000 hr TR &1 5 BT 2017 T 19 38 2017 dF I ATUROT
SISl AT AT

A) %.64 B) %.80

C) %.48.50 D) %.62.50

Find the Simple Interest on Rs.5000 at 6.25% per annum from 5th February 2017 to 19th April
2017.



A) Rs.64

C) Rs.48.50

Answer Key : D

AT FT GAT, TH] &
INBGLEED

C) Soldcled Foll38

The mass of an atom resides in
A) Nucleus

C) Electron cloud

Answer Key : A

B) Rs.80

D) Rs.62.50

Your Response : D (Correct)

Question No. 79

_ #H@arEl

B) Red Tt
D) Wield Fol38

of the atom.
B) Vacant space

D) Proton cloud

Your Response : A (Correct)

Question No. 80

g1l & & 5T U7 SR A AATOr FgA FEmA 4F A §?

A) 3f3er

C) srEum

B) fafesra

D) YaIe

Which state government has recently launched the Nirman Kusuma programme?

A) Odisha
C) Rajasthan

Answer Key : A

B) Sikkim
D) Punjab

Your Response : C (Wrong)

Question No. 81

40 BrEt 7 ¥ 15 a3 & ve gdlew &, FET F P F AA(mean) 75 § IR TR F a
3iF 72 &1 ar =T & AEa 3 T AT



Out of 40 students, 15 are boys. In a test, the mean marks of the class is 75 and the average
marks of the girls is 72. What is the average marks of boys?

A) 82 B) 74
C) 76 D) 80
Answer Key : D Your Response : D (Correct)

Question No. 82

IfE (0.29 + 0.25 + 0.01)/0.005 = a% &, af 'a’ & AT AT HIAT
A) 500 B) 11000

C) 5000 D) 110

If (0.29 + 0.25 + 0.01)/0.005 = a%, then find the value of 'a'.

A) 500 B) 11000
C) 5000 D) 110
Answer Key : B Your Response : B (Correct)

Question No. 83

BAFGRUTaREA A8, C.BF @ AN AFcRorq@ # g 3R D, BIRAF @@ C
F 3cal H 81 A & arder D fir far ==ar g2

A) 3R B) 3ccaR q@

C) efgIor qd D) @@

B is to the south west of A, C is to the east of B and south east of A, and D is to the north of C
in line with B and A. What is the direction of D with respect to A?

A) North B) North east
C) South east D) East
Answer Key : B Your Response : B (Correct)

Question No. 84

Farei Aot & Fewdt & Twrfas o A El




A) 37T B) &HA

C) ea-faeer D) 3r&AT

The chemical properties of the members of the homologous series are-

A) Different B) Similar
C) Various D) Not similar
Answer Key : B Your Response : B (Correct)

Question No. 85

T T FAr F HROT T B
A) faarfaa A B) ferf@= C
C) Terfa= B1 D) feif@= B2

Scurvy is caused by deficiency of-

A) Vitamin A B) VitaminC
C) Vitamin B1 D) Vitamin B2
Answer Key : B Your Response : A (Wrong)

Question No. 86
MR Fethe AT ¥ 39RUT dea Fia & &2
A) grefrgs B) saAH & el
C) Few< D) 3ol

The elements in the compound potassium sulphate are-

A) Potassium B) All of the options
C) Sulphur D) Oxygen
Answer Key : B Your Response : B (Correct)

Question No. 87

Ife A 3R B 3T 10T §, o cos A cos B - sin A sin B & #le AId HfAT]



A) 1 B) 0

C) 1/2 D) -1

If A and B are complementary angles, then find the value of cos A cos B - sin A sin B.

A) 1 B) 0
C) 1/2 D) -1
Answer Key : B Your Response : B (Correct)

Question No. 88

$.32000 Fr TR W 25% #r e & 2 a¥ FT Thqgfg A Ad AT

A) %.18000 B) %.15625

C) %.12625 D) %.16000

What is Compound Interest on Rs.32000 at 25% for 2 years?

A) Rs.18000 B) Rs.15625
C) Rs.12625 D) Rs.16000
Answer Key : A Your Response : A (Correct)

Question No. 89

1 1 1
3 3 )3

(100)2 x (0.001)5 - (0.0016)% =y HTT [T FHITIT

A) B)

4/5 1/5

0 D)



2/5 3/80

1
z

1 1
Find the value of (100)2z x (0.001)3 - (0.0016)<

A) B)
4/5 1/5
0 D)
2/5 3/80
Answer Key : A Your Response : A (Correct)

Question No. 90

U fARET Fesmar A, 'EDITION' & 'IDETNOI for@r Sirdr &1 3 gesmsr # 'MEDICAL'®I $&
forar smrem?

A) DIEMCAL B) DEMILAC

C) CADILEM D) LACIMED

In a code, 'EDITION' is written as 'IDETNOI'. How will 'MEDICAL' be written in that code?
A) DIEMCAL B) DEMILAC

C) CADILEM D) LACIMED

Answer Key : B Your Response : B (Correct)



Question No. 91

T S A WA g R fr 3 gt 3N o 3R A B A a7 9 AT g S a3
I g8 3o AR aREA A AR el IR 732

A) T SR A B) T IR HI

C) dR &R HII D) ar SR #Hr

A girl ran from her home towards east direction and took a left turn. Again she turned left and
turned right. How many turns she did towards north and west?

A) Three turns B) One turn
C) Four turns D) Two turns
Answer Key : A Your Response : A (Correct)

Question No. 92

fRw 1w el F & e @ el
A) FPILG B) ISLOJ
C) AKDGB D) LTOQM

Find the ODD one out from the given options.

A) FPILG B) ISLOJ
C) AKDGB D) LTOQM
Answer Key : D Your Response : D (Correct)

Question No. 93

S GV & ¥ @Y IR § o 59 G@RT 3 W el | el AT Al &7

A) TEcATHYOT def B) Techrar &l
C) °vYUT §of D)faagaaa

Which force is exerted by liquids on objects moving through them?
A) Force of gravity B) Magnetic force

C) Frictional force D) Electrostatic force



Answer Key : C Your Response : C (Correct)

Question No. 94

SRS T NOFINE AT B

A) HelaTeH B) f&dr

C) weels D) dffer

is the official language of Jharkhand.

A) Malayalam B) Hindi
C) Kannada D) Tamil
Answer Key : B Your Response : B (Correct)

Question No. 95

TS 39 B & 10 e Foek f IR _FAar ¢, 9¢ F5ar ¢ 3’ 25 AT Torar §, B § a0
AT & 3R 40 X T &, T g Fsar & 3 5 AeT Uge T Tl TG g1 375 W
¥ T fra fowm & 872

A) 3cR uftas B) af&or ga
C) 3ceR qd D) aferor uftas

Raj walks 10 m north from his house, turns left and walks 25 m, again turns left and walks 40
m, then turns right and walks 5 m to reach the school. In which direction is the school from his

house?
A) North west B) South east
C) North east D) South west
Answer Key : D Your Response : D (Correct)

Question No. 96

Rrfafae Aol 3 sRReYd Fear I R

3, 6, 11, (...), 27, 38



Find the missing number in the following series.

3,6, 11, (...), 27, 38

A) 16 B) 18
C) 20 D) 22
Answer Key : B Your Response : B (Correct)

Question No. 97

Aoy S Q@ FI

885, 870, 855, 840,(...)
A) 855 B) 835

C) 815 D) 825

Complete the series.

885, 870, 855, 840,(...)

A) 855 B) 835
C) 815 D) 825
Answer Key : D Your Response : D (Correct)

Question No. 98
fArfaf@a & & Sl rgererier 3R W (dietary fiber) FT TF 3ETEI0T 87

A) sTEame (Psyllium) B) Seffere
C) defeirst D) dfefea




Which of the following is an example of insoluble dietary fiber?

A) Psyllium B) Inulin
C) Cellulose D) Pectin
Answer Key : C Your Response : C (Correct)

Question No. 99

el o & At asRar Fet AR F TERIT Fg ¥ W IR arell U Fiedfasw d@elr dar
Y AT FgT AT 872

A) ofH & gaR® B) ashar Faam
C) wiehet gl f D) #&T 3T

An imaginary straight line passing through the two centres of curvature and the optic centre of
the lens is called-

A) Aperture of the lens B) Radius of curvature
C) Focal length f D) Principal axis
Answer Key : D Your Response : D (Correct)

Question No. 100

ar It & FAST g A et -
1) 3<Teh 0T FATT &

2) 3% HIA MY Hepariash &l

3) ¥ gat A @l
A) Fad 2 B) 1 3R 2 a=t
C) %haa 3 D) ohaedl 1

Conditions for two figures to be similar:
1) They are equiangular.



2) Their corresponding sides are proportional.
3) They are congruent.

A) Only 2 B) Both 1 and 2
C) Only 3 D) Only 1

Answer Key : B Your Response : B (Correct)
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